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Department of Mathematics and Statistics
Differential Calculus ,
Lab Assignment 2

3
1. (5 marks) If cosf = 7 < 6 < 2, find the remaining trigonometric ratios.
2. Prove the following identities

(a) (6 marks) cos3z = 4cos®z — 3cosz
sin(z + y)

b) (6 =
(b) (6 marks) cot z + coty =y

3. If sinz = —1 and tany = 2, where z and y are in the interval [7/2,3m/2], evaluate the
expression.
(a) (6 marks) cos(2z — 2y)
(b) (6 marks) tan(z + y)
4. Find all the values of z in the interval [0, 2] that satisfy the equation.
(a) (5 marks) 3tan’z =1
(b) (6 marks) cos2z =1+ 3cosz
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